0001659810438999

Lo —O BEHESRAY 09—

2014 4F RERTEIR 45 4 1

4| a, b, c2 FOEKELTE. FEx, yh

s g (1) L0G2,4,58=x & 8= 2t
AT E 4q+5 =13

LOGg,p,cy = & - _zi
EHRITILIZT S, !

(1) LOGo2 45 8 Dffi % kb k.
(2) LOGg 425 =s& 8K, log;gl2s % s # flWTFHFE. =720, W¥EFLRNTERY.
(3) &

LOGg 24 (2t +11) —LOGg 9 2 (£ + 1) — LOGs 22 (1 +3)=0
AT TER ®TARTRD &

s & b= 245*2

() [0G2,4,25

aagz 16
A+ 4
@) L0Gaaz.4 (2t+1) =X <= 2t+11=2° O
L0G2,2,2 (t+1) = Y = t+1 = 22'4"'2 )
LOG 2,22 (t+3) = 2 <> t+3=2%"% -0
i : = ' 2+l - 2x+4~(29+2)~(22+2)
SNOEIOLIO YR e -
2x-g-2) _2ttU
2 (t+1)(t+3)

X~Y-2=z0&), 2t+10 = th4t+3 & (1-2)(t+4)=0

t=2,-4 t=20v%. ©,0,@ talky X, ., 2 133/233
t=-40rs. @¢&) ~322¥"2 %Y 5B - ¢t

2

+92\3 1 25+6 _ 3
,&3816 125 = ME =1 i"ﬂoaz(zq‘s 2) = ifﬂogzzl - 35*2

4

I




